
FPG-20
Tav. 560007200M02P00

544233600 (FPG-20)
544233700 (FPG-30)

536006400

531019500

531017500 (FPG-20)
531016900 (FPG-30)

531017400 (FPG-20)
531017000 (FPG-30)

541048700 (FPG-20)
541048801 (FPG-30)

544120300544112100

533067600

533016400

536000300
533076800

531000100

533010100

533010300

541050300 (FPG-20)
541050400 (FPG-30)

544111600

533010200

560007200M02P00

533050200(AU S)

533075200(AU S)

531063800(AU S)



FPG-20 - FRIGGITRICI PASTICCERIA FPG-20

Codice Descrizione Prezzo €
531019500 GRIGLIA SC.FUMI 400 TOND.FPG 96,30
536006400 MANIGLIA S65 NERA 16,50
544233600 COP.VASCA FPG/FPE-20 72,20
531017500 CESTO FP 464X349X075 FPG20 95,00
531017400 FILTRO VASCA S.CESTO FPG -20 63,45
541050300 ASS.PIANO FPG-20 554,00
544111600 FIANCO APP.TOP 700 87,45
531000100 VALV.SFERA 3/4G F/ATT.B. 38,95
533076800 MANIGLIA SCAR.RUB.3/4G FE/FG/FPG 7,85
536000300 IMPUGNAT.Ø15X25XM6 6,60
533010100 RACC.BIC.Ø18 3/4 9,90
533010200 BICONO RUBINETTO 531000100 Ø18 9,90
544112100 STAFF.BLOCC.RUB.CORTA 13,20
544120300 SCARICO RUBINETTO 3/4G PROLUNGA 25,25
533067600 PERNO BOCCOLA RUB.SERIG. (S) 7,90
533016400 BOCCOLA RUBINETTO 5,55
541048700 ASS.CRUSC.PAST.FPG-20 63,45
533010300 PIEDE Ø23 012-022 M10 PLAST. 7,85



FPG-20
Tav. 560037000M03P00



FPG-20 - FRIGGITRICI PASTICCERIA FPG-20

Codice Descrizione Prezzo €
533020200 UGELLO PILOTA 0160 Ø30 CORTO 5,55
533020400 UGELLO PILOTA 0160 Ø51 CORTO 5,55
533020100 UGELLO PILOTA 0160 Ø75 CORTO 5,55
533019300 INIETTORE CH12X14,0 Ø100 6,60
533030500 INIETTORE CH12X14,0 Ø090 6,60
533014900 INIETTORE CH12X14,0 Ø150 6,60
533030300 INIETTORE CH12X14,0 Ø160 6,60
533030200 INIETTORE CH12X14,0 Ø170 6,60
533031000 INIETTORE CH12X14,0 Ø175 6,60
533014700 INIETTORE CH12X14,0 Ø085 6,60
533015200 INIETTORE CH12X14,0 Ø145 6,60
533030900 INIETTORE CH12X14,0 Ø165 6,60
533030800 INIETTORE CH12X14,0 Ø155 6,60
533043300 INIETTORE CH12X14,0 Ø103 6,60
533031000 INIETTORE CH12X14,0 Ø175 6,60
531006400 BRU.FRIGG.FQ-61G 82,10
531030600 BRU.FRIGG.FQ-61G "S" 82,10
533010900 DADO ES.M14X1 OT 5,55
544147400 BOCCOLA REG.ARIA FMG-FQ 11,00
541056200 ASS.TUBO TRASM.FIAMMA FP/CP-G DX 30,70
541056100 ASS.TUBO TRASM.FIAMMA FP/CP-G SX 30,70
537010000 TERMOST.SIC.MONOF.222°C C/DADO 56,95
533017900 BICONO Ø12 4,55
533018000 RACC.BIC.Ø12 3/8G 5,55
531015100 ASS.RACCORDO 1/2G - 3/8G 16,50
533039100 BICONO Ø06 4,55
533018500 RACC.BIC.Ø06 M10X1 4,55
537002800 PIEZOELETT.M18X1,5 C/D 12,15
533011000 PILOTA 0160 3F RACC.TERMOC. 21,95
533067200 TC G.UNI 0900 INTERROTTA 23,05
533010400 BICONO PILOTA 0160 Ø06 5,55
533018500 RACC.BIC.Ø06 M10X1 4,55
533018600 RACC.CANDELA Ø7 M10X1 4,55
537003000 CAND.ACC.VITE M M4 ELETTR.LUNGO 9,90
547002700 CAV.AT TUB.Ø2 -OCC.Ø4 L0500 7,85
531014100 SONDA CAPILLARE VALV.MINISIT FG 54,70
531002700 VALV.MINISIT 100-190°C FQ 142,00
531001200 MAGNETE VALVOLA MINISIT 31,70
533018200 RACC.VALV.MINISIT 90° 7,85
536000500 GUARNIZ.O-RING RACC.MINISIT 4,55
536000700 COP.IN PLAST.MINI C/VITE+TAP. 7,85
536000600 MANOP.MINI NERA OPACA SX 5,55


